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6-4. EhxIBNE LR ERN SHE LR

HUIA B2 |o)=R

WY A TEBNERSFGRERAT (RWT)MEEE ( KEPCO ) fnED I 10FEM15E 1]
RESREZELEMELM RIZFEN NEFZEEETREW MERANEERRIE fAEmk (1
W) RERAFHRK ( #%in ) WA At SERESHIE iRk,

[RO-1][EREMET 1S ENT[ERZERIVA

—r N —
]\ Ap
SEEER | o

22HProcess 1,000 6,600 A-A Mold
FTTHE 24Uty #1 1,250 6,600 220 A-A Mold GS 30
2HERIAREHR 200 6600 220~110  A-Y Mold GS 30
THE 14A T 721 300 6,600 220 A-A Qil e 39
TH=E 1A TFE2 300 6,600 220 A-A Qil e 39
TH=E 1T 723 300 6,600 220 A-A Qil e 39
WTEBEE  240Utility#2 1,000 6,600 220 A-A Mold BRE 30

WERE

AT, NERTEREN LEMEMT] BENEE BEERFENESEE, eEssIER
ERETS lJttﬂ-!l?ETﬁ& [haE, BIRET, 5 EET@JELX gy, AMIREERERERR BN
=, BA, FREESE XFEMNEEETEENMN, BeEEHT] Z2RTEEEN,

[XR6-2[IREZEER ( ERFREBT15FENZT L )

wemi) | ome | __E89 | wee | ,
TR EH E &
" [ Tww e
Be 1=E 1991.09 6.6kV/0.22kV
Utility 1,000 1,000 274 Pt f=E

IFém EE 199109 6.6kV/0.22kV
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[%6-3]E L& E B/ RiRKIE (M=HEE | 2021108298 )

BIRKINZR
(kW)
Ut FEia ( TEn ) fREAY 1,000 252 228 90.2 24617
tility
FiE (FE&) fREAY 1,000 22913 228 994 1.329

[(RA6-1ZEEHRAERNER

m=E S A

IR FEEE

TY=

BHEE
[tCO2eq/HF]

1.45 93b.

W) Eiﬁ'é’ﬁé’ﬂ%
S{ERTER|OEKI (KW ) x ERITE) ( h/E ) + EBTEF[NVTFIR (KW )
x fEFIRTIE] ( h/& ) x TfarZR2 (% ) }- {SEREBERR (KW ) x fEF
B8 ( W/ ) + ST ERER (KW ) < ERE ( h/EF ) x TafErER2(%)]
=203.989.9(kWnh/%)
=203.99 ( MWh/% ) x 0.229 ( toe/MWh ) — EBEetoctRE REX
= 46.71(toe/%)

(2) FET quﬁ
- EFEFBRETNE (KWh/E ) x BHEBEM ( Bg/kwh )
= 203,989.9[KWh/%] x 122[ &7t /KWh]
= 24.89[BRET/F]
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(3) &7 ZEA : 36.0[FAFT]

(4) B EHR
= SIRATH ( BAFT ) - FETLUE ( BHET/E )
=24.89 (BRER ) + 360 ( BAFT/F)
=1.45[#]

() mES M EHIE
TR (10/F ) ¢ ( —SBATEHY TR )
=25 50(C/E) x (44/12)(CO2eq/C)
= 93 5[tCO2eq/#]



